%33R WTFEIMTFEL OB, £ (3X0) A0 —&KX

T T 4 BEHK | B K 5 % ISE i | 15~64% | 65ELLLE
B ¥ 24,730 75,408 37,646 37,762 14,516 54,040 6,852
H &+ 1) 891 2,756 1,397 1,359 840 1,818 98
R -} HT 63 226 110 116 29 137 60
X & R 276 813 399 414 169 556 88
x AKX B 682 2, 264 1,110 1,154 289 1,713 262
x M i3] 1,914 6, 354 3,173 3,181 1,470 4,461 423
X =] my 170 561 276 285 79 422 60
*® i) 60 206 101 105 26 161 19
i %0 1} 1,319 4,644 2,271 2,373 843 3,341 460
N 1 T 44 156 78 CT8 39 100 17
H xE HT 560 1,582 774 808 496 1,032 54
X ¥ HE 1 T H 0 0 0 0 0 0 0
X B & 2 T H 0 0 0 0 0 0 0
Al H ¥ HJ 115 351 179 172 46 256 49
2 B i} 1,207 3,124 1,581 1,543 591 2, 283 250
X f O H M 56 219 106- 113 36 141 42|
7N & R 1) 116 347 186 161 68 248 31
M & W E 1,008 3, 249 1,655 1,594 772 2,286 191
T X f1 B H 179 702 354 348 99 459 144
X B % W 388 1,203 619 584 161 932 110
= H ) 1,084 2,813 1, 355 1,458 357 1,871 585
= S = 1 1,024 - 3,211 1,572 1,639 516 2,451 244
+ = ) 3,130 9, 539 4,735 4,804 1,375 7,192 972
g fit] 1) 50 174 84 90 27 121 26
W [i7] my 60 198 96 102 2 144 32
B #® 74 237 125 112 38 174 25
F ]l ] 343 1,089 517 572 | 177 710 202
¢ 10 T 621 1,893 958 935 235 1,418 240
& W B 817 2,333 1,231 1,102 481 1,697 155
) H ] 668 1,417 651 766 | 165 1,046 206
2% | B 1 T H 2,733 8,211 4,079 4,132 1,829 5, 804 578
2 H I 2 T H 2, 689 8,051 4,139 3,912 1,377 5,939 735
2 W E 3.7 B 394 1,186 597 589 169 905 112
M4 £ W 301 1,069 514 555 312 717 40
% = g 67 247 120 127 32 171 44
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